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204 UL SE3 @A (crsl:de)
20l 22 - BHAY - SHSIA (31) of & o HAT 0l oo HDE2 ==
ES A 4,784,351 5,557,271 AT72,920 A 13.91%
ALY 4,627,603 5,557,271 N 929,668 AN 16.73%
MWeEs 0 0 0 0.00%
HH2F A 156,748 0 156,748 =3
el = R Ry 4,627,603 5,557,271 A 929,668 AN 16.73%
= 4,627,603 5,557,271 N 929,668 AN 16.73%
AXXSIMEIA BHSHSSHMSAIE SEIA 4,627,603 5,557,271 A 929,668 AN 16.73%
)
S3HSALE 24sH(SBHMSAE SEIH) 4,627,603 5,557,271 A 929,668 AN 16.73%
156,748 0 156,748 =3
156,748 0 156,748 =3
2HIAU(BSHMSAE SL3H) 156,748 0 156,748 =3
ALAU(BTASAIE SEEH)(Z2HS 156,748 0 156,748 =
o =sws)




